1 101.3kPa 9-1
1 108 81

2
1424.225
log P,f =6.08240 - ———
213.206+t
1445.58
log PE? =6.08232 - ——
209.43 +t
=4 kPa t
1 8kPa 0.595
2
3 13.6kPa 0.144
1
2
4 303.9kPa 0.80 0.20 40
A B 40 P,°=373.3kPa Pg°=117.1kPa
5 100kmol 0.40 101.3kPa
0.30
2
a =3.0
6 0.24 0.95 0.03
1 DIF
2 R=2 LIV V/L
3 R=4 v LIV
7 30% % 40 10kmol/h
101.3kPa 95% 3% R=3
*8 0.10
10kmol/h 090 005
1
2 R LIV
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F F—3
T
8
9
X=0.6, %=0.9, X:=0.3, x:=0.5
90%
1
2 F T
*10
Xp
Fu
i
HrEd
off [
1
10
*11
-7
® R=R‘{—7+CP(TS )}
Y
2
Yo = o X, 422
" R+1T" R+l
\' Co Ts T

12 50%

F=100kmol/h A

¥y

Iyl

|

= —
[ —

R =LyD

R R=L/D

96% 5%



mol %
13
4% mol %
*14
15
X=0.98, x~=0.60, x,=0.05
2.47
16 42% %
25
1 60%
2
*17
XD1:0-7
x=0.4, x~0.1 ¢=1.05, R=2,
T
I L ||':|l
.—‘Lp—
Iy
17
*18
Xs=0.56, X~=0.35, x,=0.02
1
2
19
R=3
Xp Xw
X,=0.194
*20
Xw=0.207
*21 3
R=4.0,

12

15kmol/h

Xp Xy R

XDmax

XD:0-9

o =2.4, D/D=2

0. 2F, E T b

|P|-'IF—'-

50% mol%
D/F=0.44

0.002

y=6.4x

25

35% 95%,

1.5
2%
'H
o
! %
)
18
X=0.98,
a =2.4, 0.2F
o =247
Xp Xw
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*22
80% Xp=0.28
Xw
L
i
S
r e Tw
22
*23 50% %
60% %
1 R=08
2 R=15
*24 100kmol 04
0.04 6
2
2 kmol/h
3
25 0.7MPa (A)0.490( )
26 (A)0.08( ) (B)0.22
1.36MPa 0.44
27 X;ipn=0-20 X;5=0.30
Xip=0.15( ) 0.98
a AC:6-82 a BC:S-O a CC:1-OO a DC:O-64
28 27 1.8
1 ? ?
2. ?
3. ?
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x;=0.20

a =25
2
0.8
(B)0.343 (C)0.167
(©)0.53 (D)0.17
X;c=0.35
0.99



a=1

10.
11.
12.

13.q
14.
15.
16.
17.
18.
19.
20.
21.

22.
23.
24.
25.

26.
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